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d Part-

ldentlfy the prime number’? G{Q-HTR?[ e W ﬁ7

01
A) 191 [B) 197 ~[C)199 _| D) Al of these 3 T
1 02 | What is the average of the numbers: 0, 0, 4, 10, 5, and 5?
s 1 S AN §: 0, 0, 4, 10, 5, 3R 57
A)3 B) 4 C)5 D) 6
03 | Ifx =0, then ] x| is equal to g x=0,d| x| P R 2
A) 1 | B)-x |C)0 D)
04 120 =~
A) 1 |B)20 |C)2 1D)0
05 | Find the two roots of equation, X2 + 7x +12=07? x2+ 7x + 12.= 0 JH& & &l Jd
F1d B2
A)-2, 5 B) -3, -4 C)2,5 D) 3, 4
06 | Which optlon is correct’? S 91 Ay I 82 ‘ : |
A) 456 > 465 B) 476 > 467 [C)403>430  [D)457>475
07 | 5% (—2) — (8 —12) +16 + (—8) =7
A) 6 |B)-6 |C)-16 |D)-8
08 | If x3 = 343, then find the value of x? TG x*= 3438, fR x H1 A @leh?
A)343 |B)3 104 D)7
09 | V100 ++49 =7
A) V289 J@\/_ + 7. 7 C) Vi49 | D) v290
10 | (935421 x 625) = ? |
A) 542622125 IB) 584638125 | C) 584632125 | D) 544638125
11 v Largest four-digit number divisible by 88is . 88 Y foursT IR 3idl & ffdman
gl | |
A) 9944 B) 9999 C) 8888 D) 9856
12 | Find missing number? TIPT&’ T J1d HIoA? 1, 8, 27, 64,125, ?
A) 189 113)152 | C) 216 | D) 625
13 | V15625 =?
A)1.25 | B) 1.35 | C)1.45 | D) 1.55
14 | If Px= QY = R%'and Q/P = R/Q, then 2z/(x+z) = ?
e Pr=Q =R 3R Q/P =R/Q, @ 2z/(x+z) =?
A) ylz [ B) yix | C)xly | D)zty
15 | (1/4)2 =2
A) 1/4 B)-1/8 C) 4 D) 16
16 | Find largest number? 3G aH AT J1d PISIL? 3/5, 2/3, 1/4, 417

A) 3/5

B) 1/4

C) 4/7

D) 2/3
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17

Cosec29-Cot20="7?

A) 0 B) -1 101 D) Tan G‘

18 |Ifa+b=5anda-b=+17, thenab= .9f[¢ a+b=53R a-b=+v17¢ d§
ab=___ BN |
A)2 18)1 [C)5vi7 [D) 4
19 | In a right angled trigngle twg sides are 3 cm & 4 cm. Find the length of hypotenuse inem?
TH JHHIV Y & af Yomd 3 Jft iR 4 Qi €1 9t of o) farg 1a diforge
A) 3 | |B)4 |C)5 |D)7
20 Sintt=7?
A) 1 B)O D)0.5
21 | An object has mass ‘M’ on Earth. The mass of the object at Moon =7 W?ﬂﬁﬁqﬁiﬁtﬁ
SEAM ‘M’ B | T5HT TR a%] Pl G =?
A)M | B) M/6 1 C) M?/6 D) oM
22 | The most abundant gas found in atmosphereis ___ Wﬁﬂa’@ 3fereh ITHTﬁ _
A O18 oIl @ |
A) Oxygen 3{T@dIS | B) Argon 39 | C) Nitrogen digcie | D) Carbon di-Oxide
BIeH S5-HSS
23 | Which metal remains liquid at normal ambient temperature? DA YT TRAY & AHN

IO R o & 87

A) Lithium?ﬁfﬂm B) Magnesium HWIREH | C) Zirconium_ﬁﬁﬁ'qq D) Mercury URT

24 | Which among following is an acid ? 3R I TP 3 § ?
A) HCI | B) NaCl C) KOH D) PbSO4
25 | At normal atmosphenc pressure, the boiling point of water is . gH™g
TIHSAN qa1d TR, U1 bl HYih ] o
|A)0°C | B) 100 °C | C)0°F | D) 100 °F.
26 | Colour of RED litmus paperturns._ when react with base. @I fefledq fITR CARL]

&R P Y fAfpar A U . [T BT g1 el 3!

A) blue Atal | B) pinkﬂﬁlﬁﬁ C) remains red wa*é‘rqun? D) becomes colourless

TRI B Sl 8
27 | At degree Celsius water attains maximum density. ____ fS¥t Ifciay &R Ot
S T U BTl , | |
A)O |B)4 08 D) 12
28 | Electrons carry charge. S H TSt gIl g

{ A) positive UdldH® | B) zero YU C) negative BUNHD D) variable yfada=ita

29

Which of the following contains maximum no. of atoms? fafafad f[ g W aﬂﬂﬂ
e TRETY TG 67 |

A) 18 gm H20 1B) 18 gm O2 [ C)18 gm CO2 | D) 18 gm of CH4

30

Ohm is denoted by symbol IRk Tdie gRI Aefud fear ST g

A) O B) 1t T TOw D)A
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31

Which among following gas is inflammable? FafaRad & § o 9 I saaaeha %?

1A)N2 B) Oz C) CO2 : D) H2

32

Speed of light in vacuumis ___~ m/s. d9gH | YR dI fd e / dbs Bl

A) 3x1068 ’ B) 3x108 C) 3x10%0 D) 3x1012

33

An example of non-luminous object is : R-dr g DI UD JGIerUI gl

A) Moon d1g | B) burning candle |C) live electric bulb : D) sun 4
STedt &= 3i19 fopar a1 faoielt &1 dew

34

Chemical symbol of Sodium is _Tifead &1 I9RRAS Udie el

A) Si B) Na C) Hg D) Sn

35

Value of Avogadro numberis @ﬁ@mﬁﬂﬁ 2l

A) 6.022x10%2 B) 6.022x10% | C) 6.022x10%* D) 6.022x10%°

36

Periodic table is based on . 3M1ad gRof TR 31T B

A) Equivalent weight B) Atomic weight C) Atomic _Number D) None .
TG UR TR HR TRUTY] T CIEEE]

37

process heat is transmitted without any medium. - - Yo H, I
ﬁr-n %;ﬂ e & AR gt gl ~

A) Radiation fafd=ur | B) Conduction =& | C) Convection ¥ag | D) Reflection TR

38

Which of the following element is metal? fH@fcRad & 9 & w1 gard o7 67

1 A) ﬂuo}rineq.%ﬁﬁ'-? B) phosphorusﬁ?ﬁw C) silver Tid} D) sulphur Heth

39

A normal human ear can hear sound.of frequency . U UMHNT HIHd HId
et eR g usarel .

A) 20 Hz-----20 kHz B) 30Hz--30 kHz | C) 40 Hz--—40 kHz | D) 50 Hz---—-50 kHz

40

is the hardest substance. g9 AR qﬂ'l?-f %I

A) Gold T B) Platinum Qe | C) Iron @ral D) Diamond ity

41

Under PM-KISAN scheme the eligible farmers will get yearly income support of
Rupees. PM- _KISAN ISTT % ded, a1 Rbarl &Y wﬁmﬁmﬁﬂm
i

A) 3000 B) 6000 C) 9000 D) 12000

42

Which bank is not in the part of bank merger process? P HT% % faera ufspar o :ré’r
2

A) Bank 9f Baroda | B) Dena Bank C) Vijaya !3ank D) Allahabad Bank

43

Which river finally falls into Arabian sea? &1 & 78} 3id & oRe IFR & Rt &2

A) Krishna 9T | B) Cauvery ®1ddl | C) Tapti @it D) Godavari Mgme’t
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44

Saffron colour in our National Flag represents . Bﬂﬁﬂ'@ﬂ ol § HgRar T
&1 ufaffera ol g1
A) Strength & courage |B) Truth & courage C) Fertility & growth D) Strength & truth
Tfda iR argy I 3R g IaXT 3R P iR SR G
45 [Shri is the current Minister of Home Affairs of India. 91 YR & aqH T8
GEI o
A) Nitin Gadkari | B) Rajnath Singh C) Amit Shah D) S. Jaishankar
[GIGERICER Y R 3{ffrd Mg T SR
46 | ‘Commodore’, is one of the ranks of the Indian . HHSR, URAE A UH P &l
A) Army I B) Navy R C) Air force arg I D) Pollce gierd
47 | Equator passes over . YO 3T, & SR Y ISR 6
A) Philippines B) Thailand C) Vietham D) Indonesia
flpefidta [CRERI] ESIEIRE)
48 | Smallest bone is situated in human’s . OFd & T g9y BiId g3l RUd &l
A) brain §f&Ts6 | B) thumb 33T C) ear B~ D) Knee Y&l
49 | 2019-IPL winning team is . 2019-3TRUITE [dorar S T
) Mi TH3MTS B) SRH TU3RTT | C) CSK Jludas D) KKR H$H3R

50

A candidate must be minimum

years of age to contest elections for President of

India. HRd & gufd ue & 19 e e Sulicar &) Yaw g 9¥ g =i

A) 18

B) 25

C) 35

D) 65
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